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NEW QUESTION 1

Exhibit
172.20.110.0/24  203.0.113.030 2030136430 445 20.111.0/24
: 2 1 Internet &5 66 it 23
=~ - - - - -~
R1 R2 User B
lo0: 198.51.100.1 loll: 192.0.2.1
#m.ﬂ 'rm,ﬂ

Referring to the exhibit, how do you verify the status of the tunnel from R1?

A. Issue the ping 172.20.111.10 source 172.20.110.1 command.
B. Issue the ping 172.20.111.10 source 198.51.100.1 command.
C. Issue the ping 172.20.iii.io source 203.0.113.2 command.

D. Issue the ping 172.20. I

E. 10 command.

Answer: C

NEW QUESTION 2
How does a Junos device learn about MAC addresses when Il is first connected to an Ethernet LAN?

A. The device sends out a network broadcast message asking tor all devices and MAC addresses on the network and stores this information In addition lo the

interface from which the response was received.

B. The device learns the destination MAC addresses from traffic in the network and stores this MAC address in addition to the interface from which the traffic was

received.

C. The device learns the source MAC addresses from traffic in the network and stores this MAC address in addition to the interface from which the traffic was

received.

D. The device sends out a network multicast message asking for all devices and MAC addresses on the network and stores this Information in addition to the

interface from which the response was received.

Answer: D

NEW QUESTION 3
Exhibit

ISP C
AS 65503
- 2 0
- r: et
ISP A ISP B
AS 65501 AS 65502
. o '
L T A
‘-.__x p .
%G:\ . | Advertised Prefixes: | ~ f@{'aq
2N 1722000016 [0 €
A A
d L e The4
R1: local preference = 100 == = S R2: local preference = 200
: . | Fl ’
| R'I\ /RE |
| S LIR3 |
AS 65512

You are advertising a summary route that represents your local network (172.20.0.0716) to both ISP A and ISPB. You want to influence all traffic sent to you from

ISP C to go through R2.
How would you accomplish this task?

A. On R1, prepend your AS number three times on the 172.20.0.0/16 route when advertising It to ISP 1.
B. On R1, change the local preference value to 250.

C. On R2. prepend your AS number three times on the 172.20.0.0/16 route when advertising it to ISP 2.
D. On R2, change the local preference value to 50.

Answer: B

NEW QUESTION 4
Exhibit
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user@rRZ> show ozpf interface sxtensive

Interface State Arsa DR ID BOR ID MNors

ge-0/0/3.0 DR 0.0.0.1 1%2_.168.1.2 1%2.168.1.1 1 Typ=s: LAN, Address: 172.246.1.2, HMask
2552.223.255.252, MTUO: 1300, Ceost: 1

DE addr: 172.28.1.2, BDR addr: 172.2&6.1.1, Priority: 128, Adj count: 1

Hzllo: 10, Dead: 40, ReXXmit: 5, Not Stuk

Auth type: Wone Topology default (ID 0y —-> Cost: 0O

ge-0/0/1.0 BDR 0.0.0.0 15%2.165.1.3 152.168.1.2 1

Type: LAN, Address: 172.26.2.1, Mas 255.255.,255.252, MTU: 1300, Cost: 1

DE addr 12.28.2.2, BDR addr 72.26.2.1, Priority 2, Ad] count H=llo .
Dead: 40, BeXmit: 5, Mot Stuk

Auth type: HNone

Topology default (ID 31 => Coat:
Referring to the exhibit, which two statements are correct? (Choose two.)

A. The OSPF Interfaces are configured as point-to-point.

B. The ge-0/0'1.0 Interface is configured as passive.

C. The R2 device is an ABR.

D. Junos OS default OSPF hello timers and dead intervals are used on all interfaces.

Answer: BD

NEW QUESTION 5

Which two statements are correct about the way that BGP propagates routes by default? (Choose two.)
A. A route learned by EBGP will be re-advertised to IBGP peers.

B. A route learned by IBGP will not be re-advertised lo IBGP peers.

C. Aroute learned by EBGP will not be re-advertised to IBGP peers.

D. A route learned by IBGP will be re-advertised to IBGP peers.

Answer: CD

NEW QUESTION 6
Exhibit

ISP
AS 64525
\r
w2,
'f,::\.-f' %
=y Q
T 0
o %
= AS 64501
L
% Z
V- ge-0/0/3.0 ge-0/0/3.0
loO/RID: 192.168.200.1 (1) 1929.1.030 (2 lo0/RID: 192.168.200.2
Router1 b : Router?
IBGP

[edit]
user@Routerl$ show protocols bgp
group External |
peer-as ©4525;
neighbor 172.25.1.2;
}

Referring to the exhibit, what must be included in the Routel configuration when establishing an EBGP session with the ISP?
A. A local address must be specified.

B. A local AS must be specified.

C. The BGP session type internal must be specified.

D. The BGP session type external must be specified.

Answer: A

NEW QUESTION 7
Exhibit
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sser@R1l> show vrrp summary

intarfacas State Group VE =tate VE Mode TYpe Addreass
ge=0/0/4.0 up 10 master Active 1cl £72.25.100.2
vip 172.25.100,1

user@rR2> show VIrp Summary

Interface State GLOUp VE state VR ¥ode Type Address
qe-0/0/4.0 up 1a mastar Active lel 72.25.100.3
Vip 172.29.100.1

Referring to the exhibit, which statement is true about VRRP?

A. VRRP communication between the two devices is not functioning correctly.

B. Both routers are in the same state because they have the same VRRP priority.

C. RRP Is functioning normally in active/active mode.

D. The routers should use different virtual IP addresses for VRRP to function correctly.

Answer: D

NEW QUESTION 8
Exhibit

user@R2> show ospf route
Topology default Route Table
Prefix Path FRoute MH Metric MextHorp Mexthop

Type Type Type Intezface addr/label

192.168.1.1 Intya AS BR 1F 1 ga=0/0/3.0 178.26.1.1
102.168.1.3 Intra Area BR F 1 ge=0/0/1.C 172.26.2.2
172.18.1.0/24 Exe2 Network F L ge-0/0/3.0 172.26.1.1
172.26.1.0/30 Intra Metwork I 1l ge=0/0/3.C

172.26.2.0/30 Intra Network IF Js Fl1.l\
172.26,.3.0/3C Intra MNetwork 1F 00 ge=0/0/2.C
172.26.4.0/30 Inter Hetwork 1F < ge=0/ s B 172.26.2.2
192.168.1.1/32 Ext2 Network IF 1 ge=0 f3 172.26.1.1
192.1¢8.1.2/32 Intra Network IE 1¢0 .0

92.168.1.3/32 Intra Network 1F ge=-0/0/1.0 172.26.2.2
192.1¢68.1.4/32 Inter Network 1f 2 ge-0/0/1.0 172.26.2.2

Which prefix in the output shown in the exhibit is an external prefix injected by an OSPF router?
A. 192.168.1.3

B. 172.18.1.0/24

C.192.108.1.4

D. 172.26.4.0730

Answer: D

NEW QUESTION 9
Exhibit
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M\ Exhibit

2001:DB8:0:0:2005::/64

1 i2
|/ ge-0/0/1 ge-0/0/1
R1 R2
Lo0 192.168.1.1/32 Lo0 192.168.1.2/32

You are asked to configure OSPF between routers R1 and R2 using IPv6 addresses. Which two tasks will accomplish your objective? (Choose two.)

A. Issue the sec protocols ospf area 0.0.0.0 interface ge-0/0/1.0 command.
B. Under the [edit routing-options] hierarchy, configure a 32-bit router ID.

C. issue the set protocols ospf3 area 0.0.0.0 interface ge-0/0/1.0 command.
D. Under the [edit routing-options] hierarchy, configure a 128-bit router ID.

Answer: AD

NEW QUESTION 10

Exhibit
M\ Exhibit v X
Router A Router B
Router ID 12 I_. Router ID
10.1.1.1 v [ 10.1.1.2
MPLS
Labels

The routers shown in the exhibit are configured for segment routing.
In this scenario, what is the adjacency SIO that Router B advertises to Router A?

A. 12
B.10.1.11
C.10.1.1.2
D.11

Answer: B

NEW QUESTION 10

Exhibit

S Exhibit

LSI1 A AS 65501 ISPB AS 65502

Advertised Prefixes: 172.20.0.0/24 172.20.20.0/24 172.20.21.0/24
\'N

Advertised Prefixes: 172.20.0.0/24 172.20.1.0/24

&
/
/
o, / (?
~ B N F (C'_::’
. 'y /
S R1 R » ’
\, *
k1 local preference = 100 R2 local prelerence
N
R3
AS 85517

Referring to the exhibit, which two statements are correct? (Choose two.)
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A. Devices in AS 65512 will prefer ISP A for traffic destined to the 172.20.21.0/24 network.
B. Devices In AS 65512 will prefer ISP A for traffic destined to the 172.20.0.0/24 network.
C. Devices in AS 65512 will prefer ISP B for traffic destined to the 172.20.21.0/24 network.
D. Devices In AS 65512 will prefer ISP B for traffic destined to the 172.20.0.0/24 network.

Answer: C

NEW QUESTION 15
Exhibit

ISP C b
(AS 64513)

203.0.113.0/24 1s reachable
through AS 64513

R1
AS 64512

You confirm that the R2 and R3 routers are receiving a BGP route to the 203.0.113.0/24 network, but both routers display the route as hidden. Referring to the
exhibit, which two actions solve this problem? (Choose two.)

A. Apply the routing policy on R1 as an export policy to the IBGP group.
B. Apply the touting policy on R1 as an Import policy to the IBGP group.
C. Configure a routing policy on R1 that sets the next hop for the 203.0.113.0/24 BGP route to the IP address that R1 uses for IBGP peering.
D. Configure a routing policy on R1 that sets the next hop for the 203.0.113.0/24 BGP route to the IP address that R1 uses for EBGP peering.

Answer: CD

NEW QUESTION 18
Exhibit
Mebwork 1 Nebwork 3

10.10.11.0/24 @ 10.10.13.0/24

Network 2 R - Natwork 4
& &5
I RSP Signaled Service Provider MPLS Core ]

Referring to the exhibit, what is the minimum number of LSPs required to support alt four networks?

00w
A ODNPEF

Answer: C

NEW QUESTION 22
Exhibit

ledit]
'.Z.'--.'—'I'@‘."":'JT.F:':'t geT '.""E'.]T.‘."'.-":'""!".'.'i"t?‘lﬂ "'E'-'!'F.'."F‘:'?‘"‘:'.]T'.'.":'-.'E’
Tedit]

Lserfroutercs

Referring to the exhibit, which two additional steps should you lake to fully configure NSR? (Choose two.)

A. You should configure the max period for NSR precision timers.
B. You must configure GRES.

C. You must configure graceful restart.

D. You should configure commit synchronization.
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Answer: AB

NEW QUESTION 24
Which configuration selling prohibits a static route from being redistributed by a dynamic routing protocol?

A. route-filter

B. no-readvertise

C. qualified-next-hop
D. passive

Answer: B

NEW QUESTION 26

Which BGP attribute Is used to detect touting loops?
A. AS path

B. MED

C. local preference

D. next hop

Answer: A

NEW QUESTION 31

:Exhibit
M\ Exhibit o
DR
@' e
| ge-0/0/ 1]
L .

ge-0/0/1 ge-0/0/1 ge-0/0/1

AR AL 4D
g G0 Qo

DRother DRother DRother

You are asked to configure the OSPF environment to prevent the DRother routers from participating in DR/BDR election.
Referring to the exhibit, which command will accomplish this task?

A. set protocols ospf area 0.0.0.0 interface ge-0/0/I priority 255

B. set protocols ospf area 0.0.0.0 interface ge-0/0/1 priority O

C. set protocols ospf area 0.0.0.0 interface ge-0/0/1 interface-type nbma
D. set protocols ospf area 0.0.0.0 interface ge—0/0/1 interface-type p2p
Answer: A

NEW QUESTION 35
Exhibit
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ISP B
(AS 64513)

. ISP C
. (AS 64514)
b L
» \
. ‘\ 203.0.113.0/24 is reachable
through AS 64514

“
%
L™
Y % Rr2
L
- AS 64512
203.0.113.0/24 is reachable IBGP

through AS 64513 —@EE
R1 R3

You want the R1 and R3 routers to forward traffic destined to the 203.0.113.0/24 network through R2. Which BGP attribute would you modify to satisfy this
requirement?

b
b

A. community

B. origin

C. MED

D. local preference

Answer: C

NEW QUESTION 36
Which two statements ate correct about the community BGP attribute on a Junos device? (Choose two.)

A. The community attribute is a mandatory BGP attribute.

B. If the community attribute is present, it is ignored and deleted in the BGP updates.

C. If the community attribute is present, it should be passed unchanged in the BGP updates.
D. The community attribute is an optional BGP attribute.

Answer: AC

NEW QUESTION 39
Which statement is correct about 1S-IS?

A. IS-IS is a distance vector routing protocol.
B. IS-IS is a path vector routing protocol.

C. IS-IS is a link-state routing protocol.

D. IS-IS is a classful routing protocol.

Answer: C

NEW QUESTION 43

Exhibit
M\ Exhibit
Ethernet header
IP header
TCP header
Payload

Service Provider MPLS Core

Which two statements ate correct about the actions taken as the packet traverses the service provider MPLS network from Site 1 to Site 2 as shown in the exhibit?
(Choose two.)
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A. R2 will perform a lookup using the mpls.0 table.
B. R1 will perform a lookup using the Inet.3 table.
C. R1 will perform a lookup using the mpls.O table.
D. R2 will perform a lookup using the inet.3 table.

Answer: A

NEW QUESTION 47
You want to enable a routing platform with redundant REs to switch from a primary RE to a backup RE without alerting peer nodes. Which two technologies would
you use to satisfy this requirement? (Choose two.)

A. GRES
B. VRRP
C.NSR
D. ISSU

Answer: BC

NEW QUESTION 50

Which statement describes integrated routing and bridging (IRB) interfaces?
A. An IRB interface Is an IP gateway For hosts of a bridge domain.
B. An IRB interface assigns interfaces to VLANSs.

C. An IRB interface enables Layer 2 switching on the router.

D. An IRB interface defines a bridge domain.

Answer: C

NEW QUESTION 52

Which new field is added to an IPv6 header as compared lo IPv4?
A. version

B. checksum

C. fragment offset

D. flow label

Answer: D

NEW QUESTION 56
Exhibit
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Ingresa LSP: sessions

192.168.0.3
From: 0.0.0. 0, State: Dn, ActiveRoure: 0, LSPname: to-R3
Activepath none)
LSFtype: Static Configured, Fenultimate hop popping

Follow destination IGP metczic
Encoding type: Facket, Switching type: PFacket, GEID: IFv4
LSF Self-ping Status : Enabled
FEiTazy State: Dn
Friozities: 7 0
SEArtoptimizeTimer <8
r]*r - - - i
MEBB C -
Will be sngueuesd for recomputation in 12 seacondi=)
1 MAZ 9 23:22:22.998 CSFF: <could not decermine sell
iserrcuter> show ted database
TED database: 0 1513 nodes 0 INET nodes
dit pretocols ]
jservroutery show
espl |
area 0 1S |
interface ge- 2.
interface ge-{ 4.0;
|
rsvp |

intezface all;

LLLLLL

18lghbor 192.168.0.3;
|
mpls |
labal-gwitched-pat to-R |
to 192.168.0.3 ;
|
intexface all;

The LSP is not establishing correctly.
Referring to the exhibit, what should you do to solve the problem?

A. Enable traffic engineering for the OSPF protocol.
B. Enable traffic engineering for the IS-IS protocol.
C. Enabile traffic engineering for the BGP protocol.
D. Enable traffic engineering for the RSVP protocol.

Answer: D

NEW QUESTION 60

You are bringing a new network online with three 1S-IS routers using default Junos election priorities. The routers are configured as Level 2 only IS-IS routers.
Which statement is true about the DIS election in this scenario?

A. The router with the highest MAC address will be elected as the DIS.

B. The router with the highest numerical 100 IP address will be elected as the DIS.

C. The router with the lowest numerical 100 IP address will be elected as the DIS.

D. The router with the lowest MAC address will be elected as the DIS.

Answer: B

NEW QUESTION 61

You are asked to create connections between routing instances on the same Junos device and route between the connected Instances. What are two ways to

accomplish this task? (Choose two.)

A. Use physical interfaces.
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B. Use an IRB interface.
C. Use logical tunnel interfaces.
D. Use loopback interfaces.

Answer: AB

NEW QUESTION 66

Interface ge-0/0/0.0 connecls yout network to your ISP. You want to advertise this interface address as an Internal route In OSPF without creating a neighbor with

your ISP.
In this scenario, how is this task accomplished?

A. Remove interface ge-0/0/0.0 from OSPF.

B. Create a generated route for Interface ge-0/0/0.0.
C. Add ge-0/0/0.0 as a passive interface In OSPF.
D. Configure a static route for Interface ge-0/0/0.0.

Answer: D

NEW QUESTION 68

You are asked to configure an LSP which uses the OSPF link state database for path computations. Which two statements are correct in this scenario? (Choose

two.)

A. You must use the no-cspf parameter in the label-switched-path configuration.

B. Traffic engineering extensions ate enabled by default In OSPF.
C. Traffic engineering extensions are not enabled by default in OSPF.

D. You must use the policing parameter in the label-switched-path configuration.

Answer: AC

NEW QUESTION 70
You are deploying link aggregation groups.

A. By default, what are two considerations in this scenario? (Choose two.)
B. There should only be four member links per LAG.

C. All the ports must have the same speed.

D. Member links are required to be contiguous ports.

E. Member links can reside on different members within an MC-LAG.

Answer: BD

NEW QUESTION 75
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